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Question: 1 
   
A 9-year-old girl had an FVC of 2.35 L1 year ago. She was 122 cm (4 ft) tall and weighed 29.5 kg (65 
lb). Her current height is 127 cm (4 ft 2 in), and her weight is 34 kg (75 lb). The current FVC 
measurement is 2.20 L. The quality of both tests met ATS/ERS goals. A pulmonary function 
technologist should conclude the change is 
 
A. Not significant since it is less than a 15?crease 
B. Not significant since it is within normal test variability. 
C. Significant since a decline is not expected 
D. Significant since her weight has changed 
 

Answer: C     
 

Question: 2 
   
Treadmill speed can be verified by 
 
A. Multiplying the belt length by the cycles/min 
B. Dividing the height by the horizontal distance 
C. Multiplying the cycles/min by the height 
D. Dividing the cycles/min by the belt length 
 

Answer: A     
 

Question: 3 
   
A patient is performing a flow-volume loop. A pulmonary function technologist observes equal 
decreases in expiratory and inspiratory flows resulting in plateaus. Patient effort is satisfactory, and he 
follows instructions well. The technologist should expect the patient to have a 
 
A. Small airways obstruction 
B. Restrictive disorder 
C. Variable large airways obstruction 
D. Fixed large airways obstruction 
 

Answer: B     
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Question: 4 
   
The following values are obtained using a 3-liter calibration syringe during volume calibration of a 
dryrolling 
spirometer: 
2.80 L 
2.79 L  
2.82 L 
The performance of this spirometer is best described as 
 
A. Neither accurate nor precise 
B. Both accurate and precise 
C. Precise, but not accurate. 
D. Accurate, but not precise. 
 

Answer: D     
 

Question: 5 
   
Which of the following is correct regarding smoking cessation? 
 
A. Withdrawal symptoms are mild and last less than 48 hours 
B. Pharmacologic therapy increases chances of success along with counseling. 
C. Support systems are minimally effective in smoking cessation 
D. Smokers who quit suddenly and without help are most likely to be successful. 
 

Answer: B     
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